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=3 15 0.0 0.0 333 467 20.0 3.87 =3 15 0.0 6.7 40.0 333 20.0 3.67

H= | g3 40 0.0 25 475 425 75 355 H= | g3 40 0.0 50 475 400 7.5 3.50

X9 | 7|gt 18 0.0 5.6 50.0 333 111 3.50 X9 | 7|gt 18 0.0 111 55.6 222 111 3.33

f8g 11 0.0 455 273 27.3 0.0 2.82 oog 11 0.0 18.2 8138 0.0 0.0 2.82

+3 25 0.0 40 320 64.0 0.0 3.60 +3 25 0.0 40 44.0 52.0 0.0 348

3%t | HSE 35 0.0 0.0 486 314 20.0 371 232x | b2 35 0.0 57 54.3 20.0 20.0 3.54

of | xa9Az 4 0.0 0.0 75.0 25.0 0.0 3.25 of | xafAz 4 0.0 0.0 50.0 25.0 25.0 3.75

fsg 20 0.0 300 400 25.0 5.0 3.05 oog 20 0.0 20.0 60.0 20.0 0.0 3.00
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£13. Z4E W A[EE2 0|83}7|0f| Ha|siCt

sgt HE W AlIEE2 o|83t7|o Halsict BE M

= o 29E | 2UE 28 oHE e o= B

A 84 0.0 9.5 39.3 417 9.5 351

S X} 31 0.0 9.7 25.8 452 19.4 3.74

Mol | ofxp 42 0.0 438 429 476 438 3.52

3 11 0.0 27.3 63.6 9.1 0.0 2.82

20-30CH 10 00 0.0 30.0 50.0 20.0 3.90

o2 40~50CH 28 0.0 7.1 39.3 39.3 143 3.61

60CH OfAH 34 0.0 8.8 353 50.0 5.9 3.53

3 12 0.0 25.0 58.3 16.7 0.0 292

13 45 0.0 6.7 37.8 44.4 111 3.60

xof | 2~33 11 0.0 0.0 727 273 0.0 3.27

ST |42 o3} 17 0.0 11.8 59 64.7 17.6 3.88

zog 11 0.0 27.3 63.6 9.1 0.0 2.82

=3 15 0.0 6.7 40.0 333 20.0 3.67

H= | g3 40 0.0 10.0 325 50.0 75 355

X9 | 7|gt 18 0.0 0.0 389 50.0 111 3.72

f28d 11 0.0 27.3 63.6 9.1 0.0 2.82

+3 25 0.0 8.0 36.0 56.0 0.0 348

3%t | HSE 35 0.0 29 371 400 20.0 3.77

of | xa9Az 4 0.0 0.0 50.0 25.0 25.0 3.75

f28H 20 0.0 25.0 45.0 30.0 0.0 3.05
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214 SX|# W $ABZ0| & Elof Yrt
scixt EX& W FAS0l # o] Art 5E Mg
= ofe 205 | 20E H5E il o o= gz
A 84 83 345 381 131 6.0 2.74
S X} 31 97 29.0 323 16.1 129 2.94
Mgt | ofxp 42 48 35.7 452 11.9 24 2.71
3 11 18.2 455 273 9.1 0.0 2.27
20-30CH 10 00 20.0 50.0 20.0 10.0 3.20
o124 40~50CH 28 36 286 429 14.3 10.7 3.00
60CH OfAH 34 118 382 353 11.8 29 2.56
3 12 16.7 50.0 25.0 8.3 0.0 2.25
12 45 6.7 356 422 8.9 6.7 2.73
xof | 2~33 11 9.1 455 455 0.0 0.0 2.36
ST |42 o3} 17 59 17.6 294 353 118 3.29
zeg 11 18.2 455 27.3 9.1 0.0 2.27
=3 15 133 20.0 333 26.7 6.7 2.93
H= | g3 40 50 400 35.0 15.0 50 2.75
X | 7|gt 18 56 278 55.6 0.0 111 2.83
F8H 11 182 455 27.3 9.1 0.0 227
+3 25 40 400 40.0 16.0 0.0 2.68
23 | HS2 35 8.6 229 429 114 143 3.00
of | xafAz 4 0.0 75.0 0.0 25.0 0.0 2.50
£33 20 15.0 40.0 35.0 10.0 0.0 2.40
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215 Fa% Mg o #F(EESE, 100% SHIIF) 216. 2% 29 3 &2
2% Ald A =3 20 29 A A2
gunt | man | BN = sE% | wxa | U ao B0t
T | sMERE) g ﬂﬁl‘;l’ HOlAE(R rHSY 7|Et ™ 0|82 ¢l (A1H|¢E)I Z2OHY agwsg 7|Et
Ol x| P =23, X Mgy olgazt | MER US| ety
3O 84 388 94 94 329 24 S| 83 36 15.7 53.0 217 6.0
X} 31 323 12.9 161 355 32 Xt 31 0.0 16.1 419 323 9.7
Nd | ofxt 42 4.2 93 47 279 140 g4 | ozt 41 73 171 56.1 146 49
3 11 36.4 0.0 9.1 455 9.1 3 11 0.0 9.1 727 18.2 0.0
20-30CH 10 100 200 40.0 200 10.0 20-30c} 10 0.0 30.0 40.0 300 0.0
o1z 40~50CH 28 321 36 10.7 464 71 o1z 40~50c} 27 37 14.8 55.6 185 74
60CH 0|4 34 514 143 0.0 229 114 60CH Of At 34 59 14.7 47.1 235 88
8 12 417 0.0 83 417 83 =y 12 0.0 83 75.0 16.7 0.0
13 45 50.0 10.9 6.5 239 87 13 44 6.8 136 50.0 25.0 45
o | 2~33 1 273 0.0 0.0 72.7 0.0 o | 2~33 1 0.0 182 455 364 0.0
S8 |42 ol 17 17.6 17.6 235 235 17.6 S8 |43 ol 17 0.0 235 529 59 17.6
28 11 364 0.0 91 455 9.1 2gg 11 0.0 9.1 727 18.2 0.0
37 15 26.7 6.7 133 40.0 133 37 15 0.0 26.7 267 40.0 6.7
Az | gP 40 350 125 125 275 125 ES 39 51 154 56.4 128 103
X | gt 18 57.9 105 0.0 316 0.0 XS | 7gt 18 56 111 556 27.8 0.0
28 11 364 0.0 91 455 9.1 23g 11 0.0 91 727 182 0.0
+3 25 423 7.7 77 26.9 154 +3 24 83 83 50.0 250 83
3 | H=E 35 371 86 114 371 57 a2zt | HE2 35 29 257 486 17.1 57
R | Kpat9A = 4 50.0 25.0 25.0 0.0 0.0 Ol | Kpat9A = 4 0.0 25.0 75.0 0.0 0.0
2gg 20 350 100 5.0 40.0 10.0 =g 20 0.0 5.0 60.0 300 5.0
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£17. MH|A ME A X}7| ZHAS 2F @D Ut

SEXt AMH| & MEE A Xp7| 2FEAS 2F 2 Aot 5E ®E

= o 29E | 2UE 28 oHE e o= B

A 84 0.0 24 286 58.3 10.7 377

S X} 31 0.0 3.2 194 54.8 226 3.97

Mol | ofxp 42 0.0 0.0 333 619 438 371

3 11 0.0 9.1 36.4 54.5 0.0 345

20-30CH 10 00 0.0 10.0 70.0 20.0 410

o2 40~50CH 28 0.0 0.0 214 64.3 143 3.93

60CH OfAH 34 0.0 29 353 52.9 8.8 3.68

3 12 0.0 83 417 50.0 0.0 342

13 45 0.0 22 311 533 133 378

xof | 2~33 11 0.0 0.0 36.4 63.6 0.0 3.64

ST |42 o3} 17 0.0 0.0 11.8 706 17.6 4.06

zog 11 0.0 9.1 36.4 545 0.0 345

=3 15 0.0 0.0 20.0 53.3 26.7 407

H= | g3 40 0.0 25 20.0 70.0 75 3.83

X9 | 7|gt 18 0.0 0.0 50.0 389 111 3.61

f28d 11 0.0 9.1 364 54.5 0.0 345

g 25 0.0 0.0 20.0 80.0 0.0 3.80

3%t | HSE 35 0.0 29 314 429 229 3.86

of | xa9Az 4 0.0 0.0 25.0 75.0 0.0 3.75

f8d 20 0.0 50 35.0 55.0 5.0 3.60
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£18. JjQIYEHE B W QIrt
sErxt HOMEE 2% g Qlrt X =g
= ofe 205 | 20E H5E il o o= gz
A 84 0.0 24 16.7 65.5 155 3.94
S X} 31 0.0 3.2 16.1 51.6 29.0 4.06
Mgt | ofxp 42 0.0 24 14.3 738 95 3.90
3 11 0.0 0.0 273 727 0.0 373
20-30CH 10 00 0.0 10.0 60.0 30.0 420
o124 40~50CH 28 0.0 3.6 17.9 57.1 214 3.96
60CH OfAH 34 00 2.9 14.7 706 11.8 3.91
3 12 0.0 0.0 25.0 75.0 0.0 375
12 45 0.0 22 17.8 622 17.8 3.96
xof | 2~33 11 0.0 9.1 182 727 0.0 3.64
ST |42 o3} 17 00 0.0 59 64.7 294 424
zeg 11 0.0 0.0 27.3 727 0.0 373
=3 15 0.0 6.7 13.3 53.3 26.7 4.00
H= | g3 40 0.0 25 125 67.5 17.5 4.00
X | 7|gt 18 0.0 0.0 222 66.7 111 3.89
f28d 11 0.0 0.0 27.3 727 0.0 373
>z 25 0.0 40 16.0 76.0 4.0 3.80
23 | HS2 35 0.0 0.0 17.1 57.1 25.7 4.09
of | xafAz 4 0.0 0.0 0.0 50.0 50.0 450
£33 20 0.0 5.0 20.0 70.0 5.0 375
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T20. MH|2 0| T QA}S ESUD ACt

scrxt Holol Bu &S XREA B = ATt 5E ®E scixt MH|A 0|8 & QS EFEn ot BE M
= o 29E | 2UE 2E ot o o= gzl = ofe 205 | 20E 2E il o o= gzl
A 84 0.0 12 17.9 63.1 17.9 3.98 | 84 0.0 6.0 214 57.1 155 3.82
S X} 31 0.0 0.0 194 516 29.0 410 Xt 31 0.0 6.5 16.1 484 29.0 4.00
Mol | ofxp 42 0.0 0.0 16.7 69.0 143 3.98 Mgt | ofxt 42 0.0 438 2338 619 9.5 3.76
28E 11 0.0 9.1 182 727 0.0 3.64 fsgt 11 0.0 9.1 27.3 63.6 0.0 355
20-30CH 10 00 0.0 10.0 60.0 30.0 420 20-30CH 10 00 0.0 200 50.0 300 410
o124 40~50CH 28 0.0 0.0 17.9 53.6 286 411 o124 40~50CH 28 0.0 3.6 25.0 50.0 214 3.89
60CH OfAH 34 0.0 0.0 206 67.6 11.8 391 60CH OfAH 34 00 8.8 17.6 618 11.8 3.76
3 12 0.0 83 16.7 75.0 0.0 3.67 3 12 0.0 83 25.0 66.7 0.0 3.58
13 45 0.0 0.0 17.8 60.0 222 4.04 12 45 0.0 6.7 222 533 17.8 3.82
xof | 2~33 11 0.0 0.0 18.2 818 0.0 3.82 xof | 2~33 11 0.0 9.1 182 727 0.0 3.64
S8 |42 o3t 17 0.0 0.0 17.6 52.9 294 412 S8 |42 ot 17 00 0.0 17.6 52.9 294 412
zog 11 0.0 9.1 182 727 0.0 3.64 zeg 11 0.0 9.1 27.3 63.6 0.0 355
=3 15 0.0 0.0 6.7 66.7 26.7 420 =3 15 0.0 6.7 13.3 53.3 26.7 4.00
H= | g3 40 0.0 0.0 20.0 60.0 20.0 4.00 H= | g3 40 0.0 75 17.5 60.0 15.0 3.83
XY | 7lEt 18 0.0 0.0 222 61.1 16.7 3.94 XS | 7lEt 18 0.0 0.0 333 50.0 16.7 3.83
28E 11 0.0 9.1 182 727 0.0 3.64 oog 11 0.0 9.1 27.3 63.6 0.0 355
+3 25 0.0 0.0 20.0 76.0 40 3.84 +3 25 0.0 40 16.0 76.0 4.0 3.80
3%t | HSE 35 0.0 0.0 20.0 514 286 4.09 232x | b2 35 0.0 2.9 229 486 257 3.97
of | xa9Az 4 0.0 0.0 0.0 25.0 75.0 475 of | xafAz 4 0.0 0.0 50.0 25.0 25.0 3.75
zeg 20 0.0 50 15.0 75.0 5.0 3.80 oog 20 0.0 15.0 20.0 55.0 10.0 3.60
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221 2x|#e| ASS HHCt
Serxt SRl ZAS2S HESC R
= o 29E | 2UE 2E ot o o= gzl
A 84 0.0 12 15.5 429 405 423
S X} 31 0.0 3.2 9.7 35.5 516 435
Mol | ofxp 42 0.0 0.0 11.9 524 35.7 424
3 11 0.0 0.0 455 273 273 3.82
20-30CH 10 00 0.0 0.0 400 60.0 460
o2 40~50CH 28 0.0 3.6 7.1 464 429 429
60CH OfAH 34 0.0 0.0 17.6 471 353 418
3 12 0.0 0.0 417 25.0 333 3.92
13 45 0.0 0.0 156 44.4 400 424
xof | 2~33 11 0.0 0.0 0.0 727 27.3 427
ST |42 o3} 17 0.0 59 59 294 58.8 441
zog 11 0.0 0.0 455 27.3 27.3 3.82
=3 15 0.0 0.0 133 60.0 26.7 413
H= | g3 40 0.0 25 15.0 400 425 423
X9 | 7|gt 18 0.0 0.0 0.0 44.4 55.6 4.56
28 11 0.0 0.0 455 27.3 27.3 3.82
g 25 0.0 40 4.0 480 44.0 432
3%t | HSE 35 0.0 0.0 143 429 429 429
of | xa9Az 4 0.0 0.0 25.0 50.0 25.0 4.00
28E 20 0.0 0.0 30.0 350 35.0 4.05
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222 YYUEL 0|8XtES| EXE HIFo=2 Malprtn Mzisi
seixp | HES2 0l8AS2 2HE HIHOR Mottt AL | ox g
= ofe 205 | 20E H5E il o o= gz
A 84 0.0 6.0 15.5 452 333 4.06
S X} 31 0.0 9.7 9.7 387 419 413
Mgt | ofxp 42 0.0 24 11.9 57.1 286 412
3 11 0.0 9.1 455 182 273 3.64
20-30CH 10 00 10.0 10.0 50.0 300 4.00
o124 40~50CH 28 0.0 3.6 10.7 50.0 35.7 418
60CH OfAH 34 00 59 11.8 50.0 324 4.09
3 12 0.0 83 417 16.7 333 375
12 45 0.0 6.7 133 422 37.8 411
xof | 2~33 11 0.0 0.0 9.1 8138 9.1 4.00
ST |42 o3} 17 00 59 59 471 412 424
zeg 11 0.0 9.1 455 182 27.3 3.64
=3 15 0.0 6.7 13.3 60.0 20.0 3.93
H= | g3 40 0.0 75 10.0 450 375 413
X | 7|gt 18 0.0 0.0 111 50.0 389 4.28
28E 11 0.0 9.1 455 18.2 27.3 3.64
>z 25 0.0 8.0 4.0 480 40.0 420
23 | HS2 35 0.0 2.9 17.1 457 343 411
of | xafAz 4 0.0 25.0 25.0 25.0 25.0 3.50
£33 20 0.0 5.0 25.0 45.0 25.0 3.90
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HAYUSS U7t 238l st= Aol sl 5235 s ECt 224. MH|A(Z27) 2F0 0] HASS M = ACt

sex | HESE2 W 33 ste Aol thel B2 2 FO | 5y myg scixt MHA(Z23Y) 20| AN HASS Mg = JUrt BE M

= o 29E | 2UE 2E ot o o= gzl = ofe 205 | 20E 2E il o o= gzl

A 84 0.0 12 131 47.6 381 423 oA 84 0.0 0.0 10.7 512 381 427

S X} 31 0.0 3.2 16.1 355 452 423 Xt 31 0.0 0.0 16.1 387 452 429

Mol | ofxp 42 0.0 0.0 7.1 57.1 35.7 429 Mgt | ofxt 42 0.0 0.0 24 619 35.7 433

28E 11 0.0 0.0 273 455 273 4.00 fsgt 11 0.0 0.0 27.3 455 27.3 4.00

20-30CH 10 00 0.0 0.0 60.0 40.0 440 20-30CH 10 00 0.0 0.0 60.0 40.0 440

o124 40~50CH 28 0.0 3.6 10.7 39.3 464 429 o124 40~50CH 28 0.0 0.0 10.7 429 464 436

60CH OfAH 34 0.0 0.0 14.7 529 324 418 60CH OfAH 34 00 0.0 8.8 58.8 324 424

3 12 0.0 0.0 25.0 417 333 4.08 3 12 0.0 0.0 25.0 417 333 4.08

13 45 0.0 0.0 15.6 422 422 427 12 45 0.0 0.0 8.9 489 422 433

zof | 2~33 11 0.0 0.0 0.0 818 18.2 418 xof | 2~33 11 0.0 0.0 0.0 8138 18.2 418

S8 |42 o3t 17 0.0 5.9 59 412 471 429 S8 |42 ot 17 00 0.0 11.8 412 47.1 435

zog 11 0.0 0.0 27.3 455 27.3 4.00 zeg 11 0.0 0.0 27.3 455 27.3 4.00

=3 15 0.0 0.0 133 66.7 20.0 407 =3 15 0.0 0.0 13.3 66.7 20.0 4.07

S 40 0.0 25 125 400 450 428 H= | g3 40 0.0 0.0 75 475 450 438

7|Et 18 0.0 0.0 5.6 50.0 444 439 X | 7|gt 18 0.0 0.0 5.6 50.0 44.4 439

f8g 11 0.0 0.0 273 455 27.3 4.00 oog 11 0.0 0.0 27.3 455 27.3 4.00

+3 25 0.0 40 8.0 400 480 432 +3 25 0.0 0.0 8.0 44.0 480 4.40

ax | Ha2 35 0.0 0.0 17.1 457 371 420 232x | b2 35 0.0 0.0 114 514 371 426

KAQIA S 4 0.0 0.0 0.0 50.0 50.0 450 of | xafAz 4 0.0 0.0 0.0 50.0 50.0 450

fsg 20 0.0 0.0 15.0 60.0 25.0 410 fegt 20 0.0 0.0 15.0 60.0 25.0 410
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Ay mZz sl I 226 FofjlsgH =20 =Hor
SErR} gyg =203 den SErR} Yoiseg =213 ek
- gasict LQSIX| @it - gastct LQSX| @it

Al 84 66.7 333 Mo 83 54.2 458
LR} 31 613 387 LER} 31 54.8 452
Mel | ofxt 42 69.0 31.0 My | ofxt 41 51.2 488
=K1 11 72.7 27.3 oget 11 63.6 36.4
20-30CH 10 50.0 50.0 20-30C 10 70.0 30.0
40~50LH 28 75.0 25.0 40~50LH 28 536 464

o o
60CH 0|4t 34 64.7 353 60CH O] At 33 485 515
23E 12 66.7 333 oget 12 583 417
13 45 68.9 311 13 44 59.1 409
o | 2~38 11 63.6 36.4 o | 2~38 11 273 72.7
S8 |42 olg} 17 58.8 41.2 S8 |42 olg} 17 52.9 47.1
£33 11 727 273 soch 11 63.6 36.4
3 15 60.0 40.0 3 15 333 66.7
o 40 72.5 27.5 A= | HP 40 57.5 425
7| Et 18 55.6 444 X | 7|gt 17 58.8 412
£33 11 727 273 f9ch 11 63.6 364
*~3 25 68.0 320 +3 25 480 52.0
== 35 65.7 343 a2z | HEE 34 55.9 441
KA A S 4 75.0 25.0 o8 | KA AH S 4 25.0 75.0
oget 20 65.0 35.0 oget 20 65.0 35.0

- 83 - _ 84 -



nE
ot
[
Ofn
kY
=]

S A SUZAAAIZ B OIS X G B Sl

2 SNBANAAFHOI=T B

Serxt Moste Z20Y HeY saxt Mzsts =20 29 7|2t
= Nz Hotmzay e Bl =20 Y7l 220y
" - — s @ olu, 128/ ol3h 674 0|4, 243/ o4

axt 29 138 86.2 2 A S 333 667

e | oxt a 195 80.5 Ll 30 6.7 733
Py 5 2 p— sy | oxt 40 475 525
20-30t 10 300 700 g 1 00 1000
pr " o5 — 20-30t 10 300 700
e o P oy |20 27 593 407
285 10 200 80.0 ootk oy | 32 250 750

12 42 190 810 28g 12 00 1000

sof | 2-33 " 1 %05 12 2 333 667
53 |42 opg 17 1756 824 gof | 2-38 - 455 >4
23g 9 222 7758 S% [ 43 oi% v 471 529

57 14 214 786 wed 1 00 1000

Eha 39 154 846 37 15 333 667

7|gf 17 176 824 AF | E7 39 436 564

] 9 222 778 M| ol 16 313 688

e ” o3 e sgg 1 00 1000

b3 34 206 794 ) 24 417 583
HUAS | 4 500 500 +a% | HFS 3 333 667

P " e P~ % | xasAz | 4 750 250

g 20 150 850
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M

£29. Z2O% MY A, 24 23 MSHEHSE, 100% SEHIIE 30. ZHHo= A|gslof st=

Ar
L=}
ol
Jir
ojo
n

§, 100% SE7IE)

Ao

S T2 MY AL M 03 MY FHHoZ AYslof sl 2Of
°x m2a Zm2a ZAke Z2H Z20 NEIES AZERE | A o .
T ° ° o dH=E
e Azt HEM agy | Hof mgu SR | oim | L | o | & | WEE2 | BAE
- olpig | LS 1285 JEx | Mes Z717| | o2
A 83 62.8 174 14.0 23 35 SExt s | FHS | 1o = HES 2 | ga=
52 | o5 | o5 | ENU| =LA iy
R 31 618 147 118 59 59 T sz | oore R Y ﬂ‘;‘x jla; 7|et
A9 | ofxt 41 61.0 220 146 0.0 24 Fe g _x‘ﬁ; 2%, | 2hg | °5 1 °$1J !
o 1 727 91 182 00 00 g8 | A =S R B VT Y
Tes : : : : ; X 5 | ma | e | ME
20-30r} 10 54.5 273 91 9.1 0.0
20-s0ti - = i e e iy S 82 9.0 348 | 225 9.0 45 6.7 10.1 34
SE sonf ol “ 68‘6 14‘3 11'4 0‘0 5‘7 SR} 31 167 222 25.0 111 56 83 111 0.0
CH O 3 . g . .
. i " e - s 0 0 My | ofxt 40 48 381 26.2 95 24 24 119 48
T: = . ' : : - zsg 11 0.0 636 00 0.0 91 182 00 91
1 44 57.8 222 156 0.0 44
; “3: 0 s s o3 0 0 20-30r} 9 0.0 500 | 200 100 | 200 0.0 00 0.0
QO ~ . | . .| .|
d = 40~50CH 27 167 | 233 167 133 33 6.7 167 33
S8 |42 o3t 17 66.7 56 111 11.1 5.6 Ll
. ” 0 o o o o 60CH Ot 34 8.1 29.7 351 8.1 0.0 54 108 27
T__"’l = sAs : ; : . : ; Dggt 12 0.0 66.7 0.0 0.0 83 167 0.0 83
= 15 58. 17. 59 5.9 11
e - o5 > -~ e 0 12 43 104 | 354 | 229 104 42 63 83 21
HE =] . . X 8 .|
;I; e " e e s 0 - zof | 2~33 11 91 364 1822 91 91 0.0 18.2 0.0
oo : ; ; - 0 0 52 |42 o3 17 10.5 15.8 36.8 10.5 0.0 53 158 53
ey 1 72.7 1 18. ! !
11 = . = o8 v " " e 1 0.0 63.6 00 0.0 91 182 00 91
+3 : ) ) . .
U o - o e 1o s o s3 15 56 27.8 27.8 111 56 56 111 56
e [Fraos . 00 250 o0 0 HE | gP 38 12.2 293 24.4 146 24 49 98 24
= = 4 75. . 5. ! !
- :; > w00 S s 0 0 Xg | gt 18 10.5 36.8 263 0.0 53 53 158 0.0
s ! 5, 5. ! !
TeF e 1 0.0 63.6 00 0.0 91 182 00 91
~a 24 40 280 | 200 16.0 0.0 40 28.0 0.0
~axt | HaE 34 10.5 263 316 7.9 53 79 53 53
oE | xparez= 4 167 | 333 16.7 167 16.7 0.0 0.0 0.0
3 20 10.0 60.0 10.0 0.0 5.0 10.0 0.0 5.0
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N olg 7Y 234. Mgt 0|8 2%
SER Mg 018z SERt Mg 018 s
= olcH eict = 13| 23| 33 43| 53]
| 82 82.9 171 oA 58 241 276 31.0 6.9 103
et 31 74.2 258 =Xt 18 56 2738 55.6 5.6 5.6
AN | ofxt 40 87.5 125 N9 | ozt 30 40.0 26.7 10.0 10.0 133
2gg 11 90.9 9.1 2gg 10 10.0 300 50.0 0.0 10.0
20-30c} 9 778 222 20-30CH 7 143 286 429 143 0.0
o124 40~50c} 27 778 222 o124 40~50rH 16 375 18.8 18.8 63 18.8
60CH Of At 34 853 147 60CH Of At 24 25.0 292 292 83 83
28E 12 917 83 2y 11 91 364 455 0.0 9.1
13 44 818 182 = 32 219 281 25.0 125 125
oy | 2~38 11 818 182 oy | 2~38 6 333 50.0 0.0 0.0 16.7
S8 |42 ol 16 813 18.8 S8 |43 olgt 10 400 100 50.0 0.0 0.0
28y 11 90.9 9.1 agg 10 10.0 300 50.0 0.0 10.0
3 15 86.7 133 3 9 333 333 333 0.0 0.0
EEu 38 86.8 132 PIES= S 31 194 29.0 258 9.7 16.1
7| &t 18 66.7 333 XS | 7gt 8 50.0 125 25.0 125 0.0
284 1 90.9 9.1 f3g 10 10.0 300 50.0 0.0 10.0
3 25 80.0 20.0 3 16 25.0 125 313 18.8 125
= 33 75.8 242 22x} | HES 22 273 409 227 45 45
xHaQ| A5 4 100.0 0.0 Olf | Ata9As 4 25.0 25.0 25.0 0.0 25.0
agg 20 95.0 5.0 2gg 16 18.8 25.0 4338 0.0 125
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35. ZAje woIckn Mzt 236. W7t He 249 2EE MY

scrxt SA2 StUCtn WZistct 5E ®E scixt ot e S4le =& HYsICH BE M

= o 29E | 2UE 2E ot o o= gzl = ofe 205 | 20E 2E il o o= gzl

A 64 0.0 10.9 375 469 47 345 | 64 0.0 16 422 50.0 6.3 361

S X} 22 0.0 9.1 13.6 63.6 136 3.82 Xt 22 0.0 0.0 18.2 68.2 136 3.95

Mol | ofxp 32 0.0 9.4 50.0 40.6 0.0 331 Mgt | ofxt 32 0.0 0.0 46.9 50.0 3.1 3.56

28E 10 0.0 20.0 50.0 300 0.0 3.10 fsgt 10 0.0 10.0 80.0 10.0 0.0 3.00

20-30CH 7 00 429 286 286 0.0 2.86 20-30CH 7 00 0.0 429 57.1 0.0 3.57

o124 40~50CH 19 0.0 0.0 36.8 57.9 53 3.68 o124 40~50CH 19 0.0 0.0 263 63.2 10.5 3.84

60CH OfAH 27 0.0 74 333 519 74 3.59 60CH OfAH 27 00 0.0 407 51.9 74 3.67

3 11 0.0 182 54.5 273 0.0 3.09 3 11 0.0 9.1 727 182 0.0 3.09

13 34 0.0 11.8 35.3 50.0 2.9 344 12 34 0.0 0.0 353 618 2.9 3.68

xof | 2~33 7 0.0 0.0 57.1 429 0.0 343 xof | 2~33 7 0.0 0.0 429 57.1 0.0 3.57

S8 |42 o3t 13 0.0 7.7 231 53.8 154 377 S8 |42 ot 13 00 0.0 30.8 462 231 3.92

zog 10 0.0 20.0 50.0 300 0.0 3.10 zeg 10 0.0 10.0 80.0 10.0 0.0 3.00

=3 12 0.0 0.0 16.7 83.3 0.0 3.83 =3 12 0.0 0.0 16.7 83.3 0.0 3.83

H= | g3 32 0.0 6.3 406 438 9.4 3.56 H= | g3 32 0.0 0.0 406 469 125 372

X9 | 7|gt 10 0.0 30.0 40.0 300 0.0 3.00 XS | 7lEt 10 0.0 0.0 400 60.0 0.0 3.60

f8g 10 0.0 20.0 50.0 300 0.0 3.10 oog 10 0.0 10.0 80.0 10.0 0.0 3.00

+3 20 0.0 0.0 35.0 65.0 0.0 3.65 +3 20 0.0 0.0 30.0 65.0 5.0 375

3%t | HSE 23 0.0 8.7 435 34.8 13.0 3.52 232x | b2 23 0.0 0.0 435 435 13.0 3.70

of | xa9Az 3 0.0 333 333 333 0.0 3.00 of | xafAz 3 0.0 0.0 333 66.7 0.0 3.67

238 18 0.0 222 333 44.4 0.0 3.22 oog 18 0.0 56 55.6 389 0.0 333
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Serxt HEte SAlo g2 Moot R
= o 29E | 2UE 28 oHE e o= B
A 64 0.0 47 32.8 56.3 6.3 3.64
S X} 22 0.0 0.0 18.2 63.6 182 4.00
Mol | ofxp 32 0.0 9.4 344 56.3 0.0 3.47
3 10 0.0 0.0 60.0 40.0 0.0 340
20-30CH 7 00 143 143 57.1 143 371
o2 40~50CH 19 0.0 0.0 316 632 53 3.74
60CH OfAH 27 0.0 74 29.6 55.6 74 3.63
3 11 0.0 0.0 54.5 455 0.0 345
13 34 0.0 59 294 61.8 2.9 3.62
xof | 2~33 7 0.0 0.0 286 714 0.0 371
ST |42 o3} 13 0.0 7.7 231 462 231 3.85
zog 10 0.0 0.0 60.0 400 0.0 340
=3 12 0.0 0.0 83 83.3 8.3 4.00
H= | g3 32 0.0 31 344 53.1 9.4 3.69
X9 | 7|gt 10 0.0 20.0 30.0 50.0 0.0 3.30
28 10 0.0 0.0 60.0 400 0.0 340
+3 20 0.0 0.0 25.0 75.0 0.0 375
3%t | HSE 23 0.0 8.7 34.8 39.1 17.4 3.65
of | xa9Az 3 0.0 0.0 333 66.7 0.0 3.67
28E 18 0.0 56 389 55.6 0.0 3.50
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238 CtY3t 72| 340 HBEC
SErxt crst 370l 2410 MSECt R
= ofe 205 | 20E 2E il o o= gzl
A 64 0.0 10.9 375 46.9 47 345
S X} 22 0.0 45 227 59.1 136 3.82
Mgt | ofxp 32 0.0 125 375 50.0 0.0 3.38
3 10 0.0 20.0 70.0 10.0 0.0 2.90
20-30CH 7 00 286 286 429 0.0 3.14
o124 40~50CH 19 0.0 0.0 36.8 57.9 53 3.68
60CH OfAH 27 00 1.1 296 51.9 74 3.56
3 11 0.0 182 63.6 182 0.0 3.00
12 34 0.0 8.8 294 58.8 2.9 3.56
xof | 2~33 7 0.0 143 286 57.1 0.0 343
ST |42 o3} 13 00 7.7 385 385 15.4 3.62
zeg 10 0.0 20.0 70.0 10.0 0.0 2.90
=3 12 0.0 8.3 16.7 75.0 0.0 3.67
H= | g3 32 0.0 6.3 375 469 9.4 3.59
X9 | 7|gt 10 0.0 20.0 30.0 50.0 0.0 3.30
28E 10 0.0 20.0 70.0 10.0 0.0 2.90
+3 20 0.0 0.0 35.0 65.0 0.0 3.65
23 | HS2 23 0.0 13.0 39.1 34.8 13.0 3.48
of | xafAz 3 0.0 333 0.0 66.7 0.0 3.33
£33 18 0.0 16.7 444 389 0.0 3.22
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Serx =42 MHolct X HE
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A 59 0.0 0.0 407 52,5 6.8 3.66
S X} 22 0.0 0.0 227 63.6 136 3.91
Mol | ofxp 30 0.0 0.0 433 53.3 33 3.60
3 7 0.0 0.0 85.7 14.3 0.0 3.14
20-30CH 6 00 0.0 333 66.7 0.0 3.67
o2 40~50CH 19 0.0 0.0 316 57.9 10.5 3.79
60CH OfAH 26 0.0 0.0 346 57.7 77 373
3 8 0.0 0.0 87.5 12,5 0.0 313
13 32 0.0 0.0 344 62.5 31 3.69
xof | 2~33 7 0.0 0.0 429 57.1 0.0 3.57
ST |42 o3} 13 0.0 0.0 30.8 462 231 3.92
zog 7 0.0 0.0 85.7 143 0.0 3.14
=3 12 0.0 0.0 83 917 0.0 3.92
H= | g3 31 0.0 0.0 452 419 12.9 3.68
X9 | 7|gt 9 0.0 0.0 333 66.7 0.0 3.67
28 7 0.0 0.0 85.7 143 0.0 314
+3 20 0.0 0.0 30.0 65.0 50 375
3%t | HSE 22 0.0 0.0 455 409 136 3.68
of | xa9Az 3 0.0 0.0 333 66.7 0.0 3.67
28E 14 0.0 0.0 50.0 50.0 0.0 3.50
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40. YA, Za|Ats HFsiCh

Ho

SErxt SYAL Z2|A= ot R
= ofe 205 | 20E H5E il o o= gz
A 63 0.0 3.2 30.2 50.8 15.9 379
S X} 22 0.0 0.0 18.2 54.5 273 4.09
Mgt | ofxp 31 0.0 3.2 323 58.1 6.5 3.68
3 10 0.0 10.0 50.0 20.0 20.0 3.50
20-30CH 7 00 143 143 429 286 3.86
o124 40~50CH 18 0.0 0.0 222 61.1 16.7 3.94
60CH OfAH 27 00 0.0 296 59.3 111 3.81
3 11 0.0 9.1 54.5 182 18.2 345
12 33 0.0 3.0 24.2 63.6 9.1 379
xof | 2~33 7 0.0 0.0 286 57.1 143 3.86
ST |42 o3} 13 00 0.0 30.8 385 30.8 4.00
zeg 10 0.0 10.0 50.0 20.0 20.0 3.50
=3 12 0.0 0.0 8.3 75.0 16.7 4.08
H= | g3 31 0.0 0.0 355 452 194 3.84
X9 | 7|gt 10 0.0 10.0 20.0 70.0 0.0 3.60
28E 10 0.0 10.0 50.0 20.0 20.0 3.50
>z 19 0.0 0.0 211 68.4 10.5 3.89
23 | HS2 23 0.0 43 34.8 435 17.4 3.74
of | xafAz 3 0.0 0.0 333 333 333 4.00
£33 18 0.0 5.6 333 44.4 16.7 372
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241 Zogde HHsict
sErxt 3Ad2S AT BE M
= o 29E | 2UE 28 oHE e o= B
HooH 63 0.0 3.2 36.5 492 111 3.68
S X} 22 0.0 0.0 227 54.5 227 4.00
Mol | ofxp 31 0.0 6.5 419 484 3.2 3.48
3 10 0.0 0.0 50.0 40.0 10.0 3.60
20-30CH 7 00 143 429 286 143 343
o2 40~50CH 18 0.0 0.0 333 55.6 111 3.78
60CH OfAH 27 0.0 37 29.6 55.6 111 3.74
3 11 0.0 0.0 54.5 36.4 9.1 355
13 33 0.0 3.0 333 54.5 9.1 370
xof | 2~33 7 0.0 0.0 429 57.1 0.0 3.57
ST |42 o3} 13 0.0 7.7 30.8 385 231 3.77
zog 10 0.0 0.0 50.0 400 10.0 3.60
=3 12 0.0 0.0 83 75.0 16.7 408
H= | g3 31 0.0 0.0 484 419 9.7 361
X9 | 7|gt 10 0.0 20.0 20.0 50.0 10.0 3.50
28 10 0.0 0.0 50.0 400 10.0 3.60
g 19 0.0 0.0 36.8 63.2 0.0 3.63
3%t | HSE 23 0.0 8.7 34.8 348 217 3.70
of | xa9Az 3 0.0 0.0 66.7 333 0.0 3.33
f8d 18 0.0 0.0 333 55.6 111 3.78
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242, MY BARE HSCH

Serxt Xt S AR RIEStCH X =g
= ofe 205 | 20E H5E il o o= gz
A 59 0.0 17 339 55.9 8.5 371
S X} 22 0.0 0.0 227 59.1 182 3.95
Mgt | ofxp 31 0.0 3.2 355 58.1 3.2 3.61
3 6 0.0 0.0 66.7 333 0.0 333
20-30CH 7 00 0.0 429 429 143 371
o124 40~50CH 18 0.0 0.0 27.8 61.1 111 3.83
60CH OfAH 27 00 37 296 59.3 74 3.70
3 7 0.0 0.0 57.1 429 0.0 343
12 33 0.0 0.0 333 60.6 6.1 373
xof | 2~33 7 0.0 0.0 286 714 0.0 371
ST |42 o3} 13 00 7.7 231 462 231 3.85
zeg 6 0.0 0.0 66.7 333 0.0 333
=3 12 0.0 0.0 8.3 83.3 8.3 4.00
H= | g3 31 0.0 0.0 38.7 51.6 9.7 371
X | 7|gt 10 0.0 10.0 300 50.0 10.0 3.60
28E 6 0.0 0.0 66.7 333 0.0 333
+3 19 0.0 0.0 26.3 737 0.0 374
23 | HS2 23 0.0 43 34.8 39.1 217 3.78
of | xafAz 3 0.0 0.0 66.7 333 0.0 3.33
23 14 0.0 0.0 357 64.3 0.0 3.64
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243, M OHE
SExt He 2 5Y HE
= o 29E | 2UE HE oHE e o= B
HooH 60 0.0 6.7 283 58.3 6.7 3.65
S X} 21 0.0 438 19.0 57.1 19.0 3.90
Mol | ofxp 31 0.0 6.5 29.0 64.5 0.0 3.58
3 8 0.0 125 50.0 375 0.0 3.25
20-30CH 7 00 286 286 286 143 3.29
o2 40~50CH 18 0.0 0.0 222 722 56 3.83
60CH OfAH 27 0.0 37 259 63.0 74 3.74
3 8 0.0 125 50.0 375 0.0 3.25
13 33 0.0 9.1 30.3 57.6 3.0 355
xof | 2~33 6 0.0 0.0 0.0 100.0 0.0 4.00
ST |42 o3} 13 0.0 0.0 231 53.8 231 4.00
zog 8 0.0 125 50.0 37.5 0.0 3.25
=3 12 0.0 0.0 83 83.3 8.3 4.00
H= | g3 31 0.0 6.5 25.8 58.1 9.7 371
X9 | 7|gt 9 0.0 111 44.4 44.4 0.0 3.33
28E 8 0.0 1255 50.0 37.5 0.0 3.25
g 19 0.0 0.0 211 789 0.0 379
3%t | HSE 22 0.0 45 27.3 50.0 182 3.82
of | xa9Az 3 0.0 333 333 333 0.0 3.00
F£3Y 16 0.0 125 375 50.0 0.0 3.38
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